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03100848 Junio - 2022

Material: Calculadora no programable 

PART 11 

1. (3 points)

Química (PCE 

PRUEBA DE ACCESO A LA UNIVERSIDAD 

Duración: 90 min. EXAMEN: Tipo -

Mixto 

MODELO 51 

Hoja 13 de 14 

a) (1. 5 points) Calculate the ionization degree and the equilibrium concentration of all 
species in a solution of acetic acid CH3-COOH 0.25 M. DATA: Ka= 1.8 x 10-5 M

b) (1.5 points) Which volume of a 0.01 M NaOH solution will be needed to neutralize 
1 O ml of the solution in part a). Write down the neutralization reaction

2. (3 points)

G iven the following reaction:

KCIO3 + FeCl 2 + HCI

a) (2 points) Balance the reaction using the ion-electron procedure. Which is the

oxidant species and which the reducing species?

b) (0.5 points) Balance the ionic reaction

c) (O. 5) Balance the global reaction
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